3 (Sem-5) HIS M 1

2017

HISTORY
( Major )

Paper : 5.1

( India under the East India Company |

Full Marks : 60

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence :
1x7=7
«B1 ¥ 91 @Bt e Teq fia
(a) Who was the first Indian Ruler to sign

the Subsidiary Alliance Treaty with
Lord Wellesley?

7 SracAEeT SIS el pee qr
1 AT SRS M (P W 2
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(b)

(c)

(d)

(e)

8A/236

(2)

In which region did the Bhonsles
rule?
(CI%E AT (@Gl deAS *PE
Ffafee 2

Which battle resulted in the end of
French power in India?

(I T TFeraaee] SEe® F40 e ~fon
tafee 2

Which Princely State was not
annexed under the Doctrine of Lapse
by the East India Company in spite of
not having a natural heir?

FERE SERFR EEER Pl @
T e FgReE MR ek o3
B RTANE AR SRR 9 @Rl A 2

Name the Governor-General who
adopted a policy of the European-
ization of bureaucracy and an

exclusion of Indians from higher
posts.

SRS TERE T TOTE o4l SReH-
TAE A% R FeEATTEe AR
AR 3SR e spe Al
4[4 - (TSR 1 14 |

{ Continued )

(3]

(i Who was the founde
State in Hyderabad:

AT FE P G

fg) In which year was
Bengal transferred t
Company?

@M oo aed e
T[eE TEEE 9 (2% 7

2. Answer in brief :
59 e i
(a) What was ‘Black Hc
el zon’ e wfeE o

(b) What was misl?
fifest @ & 3@ 2

(¢) Who fought agains
the Third Mysore W

vor R @ i
T Fafew ?

8A/236



(4)

(d) Arrange the following Revolts in
chronological order :

oo RareTgR S o -
(i) Bhil Uprising
&= ficar
(i) Santhal Uprising
A= e
(iii) Sanyasi Revolt
(iv) Kol Uprising
e Rearz
3. }Nlrlite'short notes on any three of the
ollowing :
5x3=15
T R e e eoms vy B fo -
(@) Dual Government in Bengal
TRICTS 7S *7e]
(b) Hyder Ali
. F2 =i

{c) Decline of Cottage Industries

o7 Fem e

36
8A/2 { Continued )

(5)

(d) Rohilla War

Gt &

(e) Mahalwari Settlement

FEFR) TERS

. Answer any three of
questions :

Earic ke Rl 2R

(a) “If the Battle of Plasse

English powerful f
politics of Bengal, the
made them a great po
India and conter
supremacy of the v
Discuss.

“If the Battle of Pla
the English powerful
politics of Bengal,
Buxar made them a
Northern India and
the supremacy o
country.” SCEAG F4 |

8A/236



(b)

()

(@)

(e)

8A/236

(6)

“Commercialization of agriculture in
India took place primarily to feed the
British Industries.” Discuss.

“Commercialization of agriculture in
India took place primarily to feed
the British Industries.” SC&ABAl 41 |

Trace the circumstances that led to
the introduction of the Permanent
Settlement in Bengal. Discuss its
impact on landlords, peasants and
the government.

& ofRfefoe wore el wiE amé
T C2fE, AcEs 791 T, e W
DI SIS OF 2SF el T |

Discuss the basic features of the
judicial administration under the
East India Company.

2B A @A @S @@ I G9E
2T CAPERTE. e 3941 |

What was the Doctrine of Lapse? To
what extent was its application by
Dalhousie  responsible for the
outbreak of the Revolt of 18577

TR MM 5 wfewr 2 coomaefia wrar @@
T aas, sves wR wEfiEza A
T weiR 2

g T

() Trace the course
Maratha relations
two decades of tl
century. Account for
defeat of the Marathe

British.

S PR SRS W
o R Ao 3
*fe Bifbea 2ros “AfEw G

* K &

( Continued ) 8A—3500/236
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2017

HISTORY
( Major )
Paper : 5.2
[ History of Assam (1228-1826) |
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x7=7

oS il e e a9 A1 @bl e f

(a) Who is the author of Tabagat-i-Nasiri ?
SRR T G 2

(b) What are ‘Charit Puthis’?
sRe-ofd 2

(c) What were Koch coins known as?
15 TG % ACHC Sl R 2

(d) Who reconstructed the Umananda temple?
CPICT ST AR <o Sfafes o

8A/237 ( Turn Over )



(2)

() When was the Treaty of Giladhari Ghat
signed?

Pt w63 it el wreRe oafee 2

(/) What was a Kanri Paik?
FIC! «12F & wifze 2

(g) Who were the Deodhais?
CReYRT P 1fet 2
2. Answer the following questions in brief : 2x4=8
T 2PTER YL T

(@) What is the significance of the Battle of

Itakhuli?
IR 9 @7y & =it 2

(b) Mention two causes for the Moamoria
Uprising.
IRTCAIAA Reares 151 Fae S 9 |

(c) Why was Captain Welsh recalled from
Assam?
AT @F R WA o deied WK
et i Caft o

(d) Nam.e two professional communities of
medieval Assam.

TGO ST 01 B et T Fov 1

‘8A/237 ( Continued )

(3]

3. Write short notes on
following :

oo R @i fEReR ev e B
x.é Accounts of Shihabu
- fage ot G
\/ﬁ;) Naranarayan
ESCISIER o
: }c} i‘lilambar L
e
(d) Trade during Ahom
SRS o e
(e) Neo-Vaishnavite Mo
T4-(q8A SACHET

4. Answer any three of the

wer & e bt 2re el

uﬂl} Assess the importe
for the reconstructi
Medieval Assam.

TR T 2R
&g o[ 441 |

8A/237



(4)

\(b) Review the Ahom-Mughal conflicts during

""" the last half of the 17th century.
ER wew TR oW e WwEbe @
- AT af T SR |

(c) Critically assess the reign of Rudra

Singha.
DR  [ESVE  FUPRE  EedEd
T 40

(d) Discuss the Ahom royal policy towards
the plain tribes of Assam.

TSI TR AfS SIEATE fw
S F=eicek =nces=n 4 |

(e} Examine the factors responsible for the
Burmese invasion in Assam. How did it
affect the political and economic life of
the people?

AR S FRPTE {5R w61 qEE
SRPACT (FTTC (IR T SEPTIRER ST e
F AT SRER S0 ASE CofeTRfEE 2

() Discuss the main features of the Ahom
administrative system.

S *PHIRER I (A ERTR e 31 |
* %k

8A—3500/237 3 (Sem-5) HIS M 2
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2017

HISTORY
( Major )

Paper : 5.3
[ History of Europe (1789-1870) ]

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks |
for the questions

Answer either in English or in Assamese
1. Answer in one word or in one sentence : 1x7=7
qB1 = A1 @5l IS Ted fi

(@) Who was the author of Social Contract ?
Social Contract® %@ 2

(b) Who was Necker?
G G wIfeE 7

(c) Why is 14th July celebrated as National
Day in France?

58 Eﬁﬁmm@@ﬂﬁﬂﬁﬂtqﬁqqﬁq
FANA?

8A/238 { Turn Over )



(2)

(d) Who said the ‘Holly Alliance’ as ‘high

(C

(g)

2. Write in short :

bICEF TeF o

(@)

(b)

8A/238

sounding nothing’?

‘i@ 3f%'F ‘high sounding nothing’ 3f&
CICT feE 2

Who was Polignac?
AT T e 2

Name the island where Napoleon was
sent by the European powers after the
Battle of Waterloo in 1815.

Se>e BT AR Tad Pive T ez
TN (FFCE Bettat e il 2

“Out of the mud of Crimea Italy would be
made.” Who said it?

TR ERR Rz WA e T w0
I Cfe 2

What was the Tennis Court Oath?
Tennis Court Oath f& wifss 2

“I found the Crown of France lying on the
ground and I picked it up with my
sword.” Who said it and why?

YIPR TERE A R wRe e @

RN P Coifegatt 17 wamm ey e o
CafeEt 2

( Continued )

2x4=8

(c)

(@)

(i

After the February
why was the Luxe
formed and who wa

Sv8y B (FENAl [
R 1o <791 2 T 2

Mention « two  defec
Settlement.

3. Write short notes on
following :

mﬁmﬁﬁfﬂﬁmﬁ

(@)
(b)
(c)
}d}
(e)
]

8A/238

Voltaire
SO

Reign of Terror
TGP e

Significance of July

Sprwo 5F gEg [{ee ¢

Contribution of Maz
SIEE SRR G

Zollverein

eSiESIRE|

Ems Telegram

G5 CBferams



(4)

4. Answer any three of the following : 10%3=30
w7 R @ f$FhR Sag

fa) What were the political causes of the
French Revolution?

! Rz s FReHR B w2

(b) What was the Continental System? How
did it bring downfall of Napoleon?

et s & owfEe @@ Aen cot
GeferE= “rem =fifes o

(¢) Critically discuss Napoleonic reforms.

mwﬁwmww

(d) Give a critical estimate of the foreign
policy of Napoleon 111,

T GO e R R
E SRR |

(e) What were the ¢

auses of i
Concert of Eur, R

ope?
FIOD T T Srerery FRPRR R wifes 0

() What were the causes of the Austro-

Prusian War of 18667 What were its
results?

Srbb B W W i Tee e &
FIEE S TR 6 e

* %k ok
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2017

HISTORY
( Major )

" Paper : 5.4

( History of Science and Technology
in Pre-Colonial India )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate fill marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence each : 1x7=7

oo faar eifect! eE Ted @bl e 7 9ol IS fi
(@) What do you mean by ‘microlith™?
s e’ Wi & @
(h) Name the earliest site of Neolithic Age.
Taered oA @< SifrEE = e

8A/239 ( Turn Over )



(2) (3)

. hysicians
(c) Who coined the term ‘Neolithic (c) Name two phy

Revolution’? afbi ST T PR
T PR R R 2w @i Seee (d) Write a brief note on
ofifem 2 making during medic
TR SRSTHS T
(d) From which century did iron come into afs WWW |
increased use in India?
SRS I MA@ e iRsic 3. Write short notes on
SIS 2 ? following :
T TolR 81
(e) Name a book written by Varahamihira. o foal H f
SRR Brar @ Rewrem i B | (@) Tools of Palaeolithic
' ofgerE o e e
()i Who is the first ruler of medieval India to | Bla
undertake construction of large canals? | (b) NBPW (Northern
TR ST G WP 328 TR Bl i
w48 SR 7 (c) Aryabhatta
(g) What is ‘Noria’? A
‘IR’ f 2 (@ Persian wheel
~{ifoa o
2. Answer the following questions in brief - 2x4=8
TS Al T v e o 4. Answer any three of the f
(@) Name two sites of Bronze Age Civilization. ‘ wore foa 7 e Fefet epa
9 PR TOTOW 14 Sz fayay | (a) Discuss abou; |
Ur
(b) Write a brief note on PGW (Painted Grey R
Ware). Period. e
519 T
‘cﬁ%@mem’amq%miﬁmﬁm ki okt

8A/239
8A/239 ( Continued )



(4)

(b) Examine the impact of use of iron in
India.

SRS (@ AT SR {5 T |

(c) What were the developments in the field
of astronomy and astrology in ancient

India?
5 sHeas EfeEm s Emfsiare am
R @ =ifeE 2

(d) Estimate the contributions of Bhaskara I
in ancient India.

A5 SRS 2N SEIE S JAE 7 |

(e) Write a note on the development of textile
technology during medieval India.
YA SRee 77 toMd T efed Rerm
e77S @t (Br forar |

() Discuss about the development and use
of gunpowder in medieval India.

T ST qRAE [er wE IR
R = w4 |

* ok Ak
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2017
HISTORY
( Major )
Paper : 5.5
[ History of Great Britain (1485-1820) ]

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence each : 1x7=7
ke Pz AR Tl @bl =TS 7 91 TS
fn -
(a) By what term are the scholars who
brought New Learning to England during
the reigns of Henry VII and Henry VIII
known?
oW TF HEN (TN AT - TAGT oy
ey 3o <oA1 FARPTEae [ A0 = w2
(b) Which English king was awarded the title
‘Defender of the Faith’ by the Pope?
AT e A TS TR s’ Sefd
o MR ?
() What was the Act of Uniformity and
s Supremacy (1559)? ]
GFF WF e Sfifa (sees)
wifes 2 :
8A/240 ( Turn Over )



(2)

(d) What was the ‘Personal Government’ of

Charles I?
A BT ‘TS ber’ R wifie o

fe) Who was Edward Hyde, Earl of
Clarendon?
FICTTETI e, TCATE 2 T w1fet 2

(7 When was the marriage between Mary of
York and William of Orange solemnised?
RRANCIIL R SEUR - ot o .
o (2 7

(g9) Who invented the ‘Flying shuttle’ ?
T AR Pl T e 2

2. Answer the following in brief :
PR Rz T Teg fay
(@) What were the Anti Pa;

(b)

(c)

8A/240

pal Acts passed by
the Reformation Parliament (1529-36)?

T TAFRA Aoww (sex3-ov) =3 7t
R S R e
Wh:flt were the activities of the Jesuits
during the reign of Queen Elizabeth?

R aﬁwmwwcwgﬁwmqﬁ
wife 2 :

What was the ‘Fall of Oxford’
lead to the end of the first
England (1642-46)7
THITET S R 2 Y Ry e
(sv83-8v)-3 S g5 o

? How did it
Civil War in

4

( Continued )

2x4-8 |

(3)

(d) What do you unders
and ‘Tories’ ?

qzap =TGR 9feree |

3. Write short notes on

following :
e R il coren o
’ licy of Wo
(a) Foreign Po
e Caviire A
(b) Downfall of the Cor
FIAAALT 7T
(c) Petition of Rights (L
e S (387)
d) Sir Thomas More ar
O e s o e

() Sir Robert Walpole

4. Answer any three of the

e R oo e o2

\ eriod of Henr

(a) g:eegd of the Mid:

the Modern Times.

e (A PRI

e o e e

(b) “Queen Elizabeth’s

. constant struggle‘-':

©  Counter Reformatic

Cq GfeErRRRE T

SRz e A
=41 |

8A/240



(4)

(c) “Cromwell’s greatness at home was a mere
shadow of his greatness abroad.” Justify.

CIERR (RS TR Y2el (969 ([THE

CFEA TEEOR R WP WM 1 gl
st =41 |

(d) Discuss the clauses and constitutional
significance of the Bill of Rights, 1689
and the Act of Settlement, 1701 in
establishing the supremacy of the
Parliament in England.

TGO AT Apw AGER oFIe  SRSR
Feas, svrs % Feofer wf@fEy, saos3
YIAPTRE = MR g Seamn w4 |

e) Why did England participate in the War
of Spanish Succession? How did the
Treaty of Utrecht (1713) make England
the strongest European power?
oW TR e wWewe R e
IRMEE? Weag A (save) Twrhm
e Sote weys e szt <fRens
R pfefee 2

() How did the Industrial Revolution help
urbanization in England?

Temiet et TR TR e s o 2

* % &
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2017

HISTORY
( Major )
Paper : 5.6
[ History of China (1839-1949) |

Full Marks : 60

Time : 3 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x7=7
wore it ereTEe Bed Wbt e 37 @l e
(a) Name the first treaty signed between
China and the Western powers.
T = ARSI CPPTHE AIEe RT A99EE
iR A feisn 1
(b) Between whom and in which year was
the Second Opium War fought?
IR e TR @ BER Wk 3m Rabe
ez 2
8A/241 ( Turn Over )



@ Who dhe Lol

(9

(@)

(e)

(g)

2. Answer the following questions in brief : 2x4=8

Who declared himself as the ‘Tien Wang’
or the ‘Heavenly Emperor’?

@i “focam T A Fam Im’ I Fewe cmen
wfafeE 2

Who were the Boxers?
THRIA G IRz 7

What is the meaning of Kuomintang?
FAREOR *FE =Y 2

Who is known as the ‘Father of Chinese
Republic?

B aireTa g’ Beet T T A 2

In which year was the People’s Political
Council formed?

& 57 P “ARifber e oo =9

o7 firal epEpryRd Ry Tee fia
(@) What is Cohong?

(b)

(¢ What were the ‘three principles’ of

8A/241

IR

When and who founded the ‘Tung-Ming-
Hui?

@I = @ R-fik-2¥'9 wfen R o

Dr. Sun Yet-sen?
©l. SR Q-0 @ R e 0

( Continued )

G iRty NN S AT s

(3

(d) Name the two Co

led the Long Mar
R WG Tog A
o 1

3. Write short notes o
following :

were e /& e Rk

(a)

(b}

(c)

(d)

(e

Canton Commerci

&5 e T
Failure of the self-
in the Chinese Stz
B AP ST
Sun-Joffe Declarat
Bi-calfE CEaeiE
Chiang Kai-shek
o Fi2-00%
Kuomintang-Commn

FRRFER-FREMAE T

4. Answer any three of the

R R el fofHer e

(@)

8A/241

Discuss the cause
First Opium War.

212 HIfHR T@d PRI ®



g T

(b) Discuss the causes of the Taiping
¢ Rebellion. Why did it fail?

SR fcura FAPEz S 9 1 @ Rz
R foreet Cafem o

(c) What were the objectives of the Boxer
«~ Uprising? Assess the significance of the
Boxer Protocol in the history of China.

R R Twen 7 e S S
THR 4°5'3FR oo fomd 41 1

b/(d’ What led to the Revolution of 1911 in
~ China? What were its results? Discuss.

B s833 TR Ra wma R wifem 2 o3 Rews
TR, S[CEAT 541 |
(¢) Assess the contributions of Dr. Sun
~ Yet-sen to the political history of China.

SreeE e WoRpiE W, T e-o
el S %= o

(f) Analyze the history of the Chinese

/ Communist Party between 1935 to 1949
/ with particular focus on Mao Tse-tung.

S RPA ¢FC RORSR e 9
Shoe B Rl S8y T D SRTRE et
2ot o 3 |

%* & *
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